Rama was so badly injured that he needed ..

A. extensive
B. little

C. deep

D. intensive

care in the hospital.

You cannot devise a method which

A. excludes
B. includes
C. avoids
D. ignores

all possibility of errors.

Many areas of the city were

into darkness for several hours.

A. spread

B. plunged

C. merged

D. deep

Find the ...... that accompany these cartoons.
A. topics

B. titles

C. captions

D. headings

| don't really know how to ...... the problem.
A tackle

B cope

C. draw

D erase

The passengers were afraid, but the captain

A. promised
B. assured

C. advised

D. counselled

them that there was no danger.






